APPENDIX A. PROOF OF THECREM 1

Appendix A
Proof of Theorem 1

Theorem 1 is proved in the following three steps:

Stepl. The relationship of inputs of two encoders

Let inputs of the R = 1 CCs and B = nit CCs be X{(D) and X*(D) = [X}(D), X3(D),
-+, X} (D)), respectively. When same input sequences are encoded by these CCs, the
successive | information bits of R = + CCs are equal to one information byte of
R= % CCs. So, we have:

X(D) = X}(DY + DX3(DY) + - + DAXF(DY). (A1)

Step2. The relationship of outputs of two encoders
Let outputs of the R = 1 CCsand R = % CCs be Y (D) = [Y4(D), ¥a(D), -, Yau(D)],
and,
YI(D) = YD), YD), Yo (D), Yo (D), Yu(D) - - You(D), -,
}/(:—l)n+1(D)l Y(?—l)nﬂ(D)l T }‘:::!(D)L

respectively, then the successive [ encoded information bytes of R = ;‘; CCs are equal

to one encoded information byte of R = ﬁ CCs. So, we have:

YD) = Y{(D)+ DYDY + -+ DYDY,
Yo(D) = YD)+ DY (DY + - 4+ DY a(DY,
Yo(D) = Yo(DY+DYp (DY) + - 4 DYDY (A.2)

Step3. The relationship of G(D) and J(D)

Since Y (D) = X{D)G(D}, we immediately have ¥,(D) = X(D)G,(D) for R = 1 CCs
and s = 1,2,---,n. Since Y*(D) = X*(D)J(D), we have Y;(D) = X}(D)J14(D) +
.o 4+ XH(D)Jiu(D) for R = % CCs and i=1, 2, ..., nl. Therefore, Y1(D) can be
expressed by:

(X3(DY) + DX3(D) + -+ + DTIXH(DY)YG (D)
= VDY+ DY (D) + -+ DY (DY
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X{(DY) g (D) + X3 (D) Jaa (D) + - - 4+ X} (DY) (DY)
DX} (D)1 mir (DY) + DXV Taaa (D) 4 -+ + DXF (DY (DY) + - -

li

+
+
+ DUIXHDY) A yni (DY) + DX DYy gyus (DY) + -
+ DD - yyetr (D).

Obviously,
Gi(D) = Ju(DY+ DJipna(DY 4+ DU gy (DY,
DGy(D) = DD+ Dhopir{ D)+ -+ D g 1ynaa{ DY),
DTGyD)Y = Ja(DY + Ddisr(DY + -+ D7 g iynga (DY),
So,

Gro(D) + Gia(D) + -+ + Gri(D)

= (D) + DI (DY 4+ DI_IJ!,(l—l)n-H(D!),
DG o( D)+ Gri(D)+ -+ G i1(D))

= L1 (DY) + DIompt (DY + -+ D7y gty (D),

DG 0(D) + Gra(D) + -+ + Gy D))
= Ju(DY) + Dt DY + -+ DN g pyaa (DY,

Therefore, we have:

Dy = Guo(DY),
Jl,n+l(D) = D—%G1'1(D%),
S -y {D) = D™ Gy (D),
JQ,l(D) = D%Gljg_ﬂD%),
Jomr1(D) = Gio(DT),
Jogi-tas1(D) = DT Gya(D),
Ji(D) = DT G,{(D1),
Jiari(D) = DTGa(D),
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Jug—yna{D) = GL,O(D%)-

For 4,7 = 1,---,l and h = ({ 4+ i — J) mod {, then the above equations can be
expressed generally by: Jjio1yns1(D) = T Gl,h(D‘rl‘).
By the same process, we have:

Ji—imia(D) = DT Gon(D1),
L(D) = DT Ga(Dh).
That is to say,
Jigi-tys(D) = DT G, (D7), (A.3)

where s =1,2,-.-,n. 0O
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